

$$\begin{aligned}
 & \text{ii) } \frac{x^2 - 3x + 2}{x - 0} < 0 \quad (x-2)(x-1) \quad \frac{1}{-} \frac{1}{+} \frac{0}{-} + \quad \textcircled{2} \\
 & D_f = (-\infty, 1) \cup (2, \infty) \quad x \neq 0 \\
 & \text{iii) } \frac{x^2 - 1}{x^2 - 4x + 4} \geq 0 \quad x^2 \neq 1 \quad \frac{-1}{+} \frac{1}{-} \frac{0}{-} + \quad D_f = (-\infty, -1] \cup (2, +\infty) \\
 & \quad \quad \quad (x-2)(x-1) \quad x \neq \pm 1
 \end{aligned}$$

$$1) y = \sqrt{\frac{x^2 - 5x + 3}{x^2 - 1}} \quad \frac{x^2 - 5x + 3}{x^2 - 1} \geq 0 \quad (x-2)(x-1) \neq 0$$

$$x \neq 1 \quad D_f = [2, +\infty) \cup (-\infty, -1)$$

$$2) y = \sqrt{\frac{x^2 - 5x + 3}{x^2 - 1}} \quad \begin{matrix} x^2 - 1 \neq 0 \\ x^2 \neq 1 \\ x \neq \pm 1 \end{matrix} \quad D_f = \mathbb{R} - \{\pm 1\}$$

$$1) y = \log(x^2 - 3x) \quad x^2 - 3x > 0 \quad D_f = (0, 3) \cup (3, +\infty)$$

$$2) y = \log \frac{14 - x^2}{12 - x^2} \quad \begin{matrix} 14 - x^2 > 0 \\ 12 - x^2 > 0 \\ 14 - x^2 \neq 0 \\ 12 - x^2 \neq 0 \\ x \neq \pm \sqrt{14} \\ x \neq \pm \sqrt{12} \end{matrix} \quad D_f = (-\sqrt{14}, -\sqrt{12}) \cup (-\sqrt{12}, 0) \cup (0, \sqrt{12}) \cup (\sqrt{12}, \sqrt{14})$$

$$y = \frac{x^2 - x}{x^2 + x} \quad \begin{matrix} x(x-1) \\ x(x+1) \end{matrix}$$

	-1	0	1
$x^2 - x$	+	0	-
$x^2 + x$	+	0	+
y	+	-	+

$$y = \frac{x - f(x)}{f(x)} \geq 0$$

$$f(x) \rightarrow (-1, 0) \cup (3, 0) \quad x - f(x) = 0 \quad x = f(x)$$

$$f(x)(x+1)(x-3) \quad f(x) = 0 \quad x = -1, 3$$

$$D_f = (-\infty, -1) \cup (-1, 3) \cup (3, +\infty)$$

